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CARSE FETAL 9% 95,05 EFE AR
2 A& S +&I| &= ZAHZ 1t Z AL E = SEI| = ZALZE
BNl 100CFU/mL Ol St 0 2 EUHEZ2 £ E/100mL 2=
& (Pb) 0.01mg/LOl ot E2E 4 E4(F) 1.5mg/LOI Gt EAE
Bl 2 (As) 0.01mg/LOI Bt E2A= 6 Nl & (Se) 0.01mg/LOI St 2=
=2 (Hag) 0.001mg/LOI oF E2E 8 AI2H(CN) 0.01mg/LOl ot EAE
3E(Cr) 0.05mg/LO| ot g2 | 10 SDLIOMS & A 0.5mg/LOI Gt 2As
ESRAPNESIES 10mg/LO| Gt 1.7 12 It==Z(Cd) 0.005mg/LOI &t =d=
Hl = (Phenol ) 0.005mg/L Ol ot 2245 | 14 SECEZME 0.1mg/LOI Gt 0.002
CtOIOF Kl = 0.02mg/LOl ot 22 | 16 mtetel= 0.06mg/LOI ot EAE
le-Cieze-3-222z=2e| (,003mg/L0| ot EHE 18 HLEZEX 0.04mg/LO| Gt 2= )
Pl sl= 0.07mg/LO| Gt EZE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LOI Gt =d=
HECIZ2Z0 0.01mg/LOl Gt g8 | 22 Ecl2z20 0.03mg/LOI Gt 2As
CIZ=2=HE 0.02mg/LOl ot 22 | 4 gl ®l (Benzene) 0.01mg/LOI Bt S
E209(Toluene) 0.7mg/LOl ot EZE | 26 Ol & #lF 0.3mg/LO[ Gt sSdE
alel 0.5mg/LOI Gt =3 28 | 1.1-CIZZ220Ed 0.03mg/LOI &t =4S
MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 41
WA ZSAH|E 10mg/LO| Gt =3 32 & A (Odor ) ol gl A =3
Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
M= (Colority) 5% 0lat EZE | 36 M Al (ABS) 0.5mg/LOI 5t SEE
201255 (pH) 5.8~8.5 7.7 38 Ot (Zn) 3mg/L Ol ot A=
HA0|2 250mg/LO| Gt 23.2 40 SEAA== 500mg/LO| Gt 113
& (Fe) 0.3mg/LOI Gt 228 | 42 2t 2k(Mn) 0.05mg/LOI St A=
&S (Turbidity) 0.5NTU Ol ot 0.12 44 EHat0I 2 200mg/L 0| &t 4
2205 (Al) 0.2mg/LO| Gt =23 46 PR 4mg/LO| Gt 0.46
=2(B) 1.0mg/LOI Gt =dE 48 Sz ES 0.08mg/LOI &t =4S
cALUEZEZ £ Z/100mL =23 50 | 2= Z0ol0IEd0IE 0.03mg/LOI Gt =
CIEZ20tMELIEZ | 0.1mg/LOI 5t 2 52 |CI2Z220tMELIEZ | 0.09mg/LOI Gt 28t
ECZZZ0tNELIEZ | 0.004mg/LOI ot =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
BZL2C2=2ZMHE | 0.03mg/LOI5t 222 |56 | UEZRESZ20E 0.1mg/LOIGt EAE
1.4-CtO| = &t 0.05mg/L 0| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
& £ E/100mL 2248 | 60 EEAE 0.01mg/LOI Gt EAE
fets 30ug/L Ol ot =3
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Z A& = =Z&I|&E ZAHE 1t Z A& = =&I|&E 2 AHZE 1t
1 2 BNl 100CFU/mLOI Gt 0 2 ESEHEZZ £ 2 =/100mL = E
3 &H(Pb) 0.01mg/LO| Gt == 4 EA(F) 1.5mg/LO| Gt ==
5 Bl (As) 0.01mg/LO[ Gt =EdE 6 Mgl & (Se) 0.01mg/LOI 5t =3 E
7 22 (Hg) 0.001mg/LOI Gt == 8 AI2H(CN) 0.01mg/LO| Gt ==
9 3E(Cr) 0.05mg/LO| Gt =38 10 ADLIOIEE A 0.5mg/LOI Gt =3E
11 AMEEA 10mg/LO| Gt 1.3 12 =& (Cd) 0.005mg/LOI &t =d=
13 Hl = (Phenol) 0.005mg/L Ol Gt =38 14 ZECEZ0E 0. 1mg/LOI Gt =3E
15 CtOIOFKl = 0.02mg/LO| Gt =TE 16 Itetele 0.06mg/LO| Gt =d=
17 |1.2-0IE22-3-222Z2%| (.003mg/LO| ot =2EE 18 HLEZEI=2 0.04mg/LOI Gt =4S
19 Pl sl= 0.07mg/LO| Gt =TE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LO| Gt =d=
21 | HEASZZ0Ed 0.01mg/LOI Gt =38 22 EclEz=20Ed 0.03mg/LOI Gt =3E
23 CIE2=2=20HE 0.02mg/LOI Gt EHE |24 gl ®l (Benzene) 0.01mg/LOI Gt E3E
25 E20(Toluene) 0.7mg/LOl Gt EdE | 26 Ol & gl 0.3mg/LOIGt E2ds
27 alel 0.5mg/LO| Gt =HE 28| 1.1-CIZ2Z220 E 0.03mg/LO| &t =4S
29 MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 30
31| WS AHIE 10mg/LO| Gt =3 32 & A (Odor ) ol gl A =3
33 Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
35 M= (Colority) 5% 0|5t 224 | 36 MIHI(ABS) 0.5mg/L 0| 5t EAE
37 #2025 (pH) 5.8~8.5 7.6 38 Ot& (Zn) 3mg/LO]| &t =3E
39 gA02 250mg/L 0| Gt 12.1 40 SEAA== 500mg/LO| Gt 85
41 E (Fe) 0.3mg/LOI Gt EZE | 42 a2k (Mn) 0.05mg/LOI Gt =3E
43 &S (Turbidity) 0.5NTU Ol ot 0.16 44 EHat0I 2 200mg/L 0| &t 3
45 2205 (Al) 0.2mg/LO| Gt =23 46 SR 4mg/LO| Gt 0.35
47 S4(B) 1.0mg/LOI Gt =ZE | 48 22Z2LEE 0.08mg/LOI Gt =&
49 cALUEZEZ EZ=/100mL =23 50 | 2=2Zot0IEdI0IE 0.03mg/LO| Gt =
51 |CIEZ20tMELIEE | 0.1mg/LOl 5t 2t 52 |CIZ2220tMELIEE | 0.09mg/LO| ot =3¢t
53 |ECIZZ20tMELIEE| 0.004mg/LO| Gt =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
5 | EZ2RCIZS2Z=2MHE 0.03mg/LOI &t =3 56| CIEZ2RZZ2=20E 0.1mg/LOI &t =3&
57 1.4-CtO| = &t 0.05mg/LO| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
59 & £ 2 &/100mL =dE 60 B84t 0.01mg/LOI Gk =&
61 fets 30ug/L Ol ot =3
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= o] 2] A5 FAAA A= HEE AV A7
= QAR FETIL $91 - 2%, AELT, 28HF, o) E2% 4R
2 A =2 SEI|E 2 AR ot 2 A E S +AI|= 2 AR It
1 2 BNl 100CFU/mLOI Gt 0 2 ESEHEZZ £ 2 =/100mL = E
3 &H(Pb) 0.01mg/LO| Gt == 4 EA(F) 1.5mg/LO| Gt ==
5 Bl (As) 0.01mg/LO[ Gt =EdE 6 Mgl & (Se) 0.01mg/LOI 5t =3 E
7 22 (Hg) 0.001mg/LOI Gt == 8 AI2H(CN) 0.01mg/LO| Gt ==
9 3E(Cr) 0.05mg/LO| Gt =38 10 ADLIOIEE A 0.5mg/LOI Gt =3E
11 AMEEA 10mg/LO| Gt 1.2 12 =& (Cd) 0.005mg/LOI &t =d=
13 Hl = (Phenol) 0.005mg/L Ol Gt =38 14 ZECEZ0E 0. 1mg/LOI Gt =3E
15 CtOIOFKl = 0.02mg/LO| Gt =TE 16 Itetele 0.06mg/LO| Gt =d=
17 |1.2-0IE22-3-222Z2%| (.003mg/LO| ot =2EE 18 HLEZEI=2 0.04mg/LOI Gt =4S
19 Pl sl= 0.07mg/LO| Gt =TE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LO| Gt =d=
21 | HEASZZ0Ed 0.01mg/LOI Gt =38 22 EclEz=20Ed 0.03mg/LOI Gt =3E
23 CIE2=2=20HE 0.02mg/LOI Gt EHE |24 gl ®l (Benzene) 0.01mg/LOI Gt E3E
25 E20(Toluene) 0.7mg/LOl Gt EdE | 26 Ol & gl 0.3mg/LOIGt E2ds
27 a4l 0.5mg/LOI Gt == 28 -CIZ220Ed 0.03mg/LOI &t =4S
29 MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 36
31| WS AHIE 10mg/LOl Gt =3 32 & A (Odor ) ol gl A ESk=)
33 Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
35 M= (Colority) 5% 0|5t 224 | 36 MIHI(ABS) 0.5mg/L 0| 5t EAE
37| =2012=5%(pH) 5.8~8.5 7.5 38 Ot (zn) 3mg/L 0| ot 0.002
39 gA02 250mg/LO| Gt 26.1 40 SEAA== 500mg/LO| Gt 118
41 E (Fe) 0.3mg/LOI Gt EZE | 42 2 2H(Mn) 0.05mg/LOI Gt =3E
43 &S (Turbidity) 0.5NTU Ol ot 0.17 44 EHat0I 2 200mg/L 0| &t 5
45 2205 (Al) 0.2mg/LO| Gt =23 46 SR 4mg/LO| Gt 0.45
47 S4(B) 1.0mg/LOI Gt =3 48 Sz ES 0.08mg/LOI Gt =4S
49 cALUEZEZ EZ=/100mL =23 50 | 2=2Zot0IEdI0IE 0.03mg/LO| Gt =
51 |CIEZ20tMELIEE | 0.1mg/LOl 5t 3et 52 |CIZ2220tMELIEE | 0.09mg/LO| ot =3¢t
58 cI2220tMELIEE| 0.004mg/LO| Gt =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
5 | EZ2RCIZS2Z=2MHE 0.03mg/LOI &t =3 56| CIEZ2RZZ2=20E 0.1mg/LOI &t =3&
57 1.4-CtO| = &t 0.05mg/LO| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
59 & £ 2 &/100mL =dE 60 B84t 0.01mg/LOI Gk =&
61 fets 30ug/L Ol ot =3
g=g2 )| EAEg=dy
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2 A& S +&I| &= ZAHZ 1t Z AL E = SEI| = 2 A
BNl 100CFU/mL Ol St 0 2 EUHEZ2 £ E/100mL 2=
& (Pb) 0.01mg/LOl ot E2E 4 E4(F) 1.5mg/LOI Gt EAE
Bl 2 (As) 0.01mg/LOI Bt E2A= 6 Nl & (Se) 0.01mg/LOI St 2=
=2 (Hag) 0.001mg/LOI oF E2E 8 AI2H(CN) 0.01mg/LOl ot EAE
3E(Cr) 0.05mg/LO| ot g2 | 10 SDLIOMS & A 0.5mg/LOI Gt 2As
ESRAPNESIES 10mg/LO| Gt 0.8 12 It==Z(Cd) 0.005mg/LOI &t =d=
Hl = (Phenol ) 0.005mg/L Ol ot 2245 | 14 SECEZME 0.1mg/LOI Gt 2As
CtOIOF Kl = 0.02mg/LOl ot 22 | 16 mtetel= 0.06mg/LOI ot EAE
le-Cieze-3-222z=2e| (,003mg/L0| ot EHE 18 HLEZEX 0.04mg/LO| Gt 2= )
Pl sl= 0.07mg/LO| Gt EZE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LOI Gt =d=
HECIZ2Z0 0.01mg/LOl Gt g8 | 22 Ecl2z20 0.03mg/LOI Gt 2As
CIZ=2=HE 0.02mg/LOl ot 22 | 4 gl ®l (Benzene) 0.01mg/LOI Bt S
E20(Toluene) 0.7mg/LOl Gt EdE | 26 Ol & gl 0.3mg/LOIGt E2ds
Al 0.5mg/L Ol 5t g2 | 28 -hE2z=20 0.03mg/LOI ot SEE
MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 17
WA ZSAH|E 10mg/LO| Gt =3 32 & A (Odor ) ol gl A =3
Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
M= (Colority) 5% 0lat EZE | 36 M Al (ABS) 0.5mg/LOI 5t SEE
201255 (pH) 5.8~8.5 7.5 38 Ot (Zn) 3mg/L Ol ot A=
HA0|2 250mg/L 0| Gt 13.7 40 SEAA== 500mg/LO| Gt 73
& (Fe) 0.3mg/LOI Gt 228 | 42 2t 2k(Mn) 0.05mg/LOI St A=
&S (Turbidity) 0.5NTU Ol ot 0.12 44 EHat0I 2 200mg/L 0| &t 2
2205 (Al) 0.2mg/LO| Gt =23 46 PR 4mg/LO| Gt 0.65
=2(B) 1.0mg/LO| Gt 0.05 48 Sz ES 0.08mg/LOI &t =4S
cALUEZEZ £ Z/100mL =23 50 | 2= Z0ol0IEd0IE 0.03mg/LOI Gt =
CIEZ20tMELIEZ | 0.1mg/LOI 5t 2et 52 |CI2Z220tMELIEZ | 0.09mg/LOI Gt 28t
cI2220tMELIEE| 0.004mg/LO| Gt =y 54 SZ20tMIE0IAIE 0.1mg/LO| Gt =
S22 20E 0.03mg/LOI &t =3 56| CIEZ2RZZ2=20E 0.1mg/LOI &t =3&
1.4-CtO| = &t 0.05mg/L 0| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
& £ E/100mL 2248 | 60 HEAN 0.01mg/LOI Gt EAE
fets 30ug/L Ol ot =3
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2 A& S +&I| &= ZAHZ 1t Z A & = SEI| = ZALZE
BNl 100CFU/mL Ol St 0 2 EUHEZ2 £ E/100mL 2=
& (Pb) 0.01mg/LOl ot E2E 4 E4(F) 1.5mg/LOI Gt EAE
Bl 2 (As) 0.01mg/LOI Bt E2A= 6 Nl & (Se) 0.01mg/LOI St 2=
=2 (Hag) 0.001mg/LOI oF E2E 8 AI2H(CN) 0.01mg/LOl ot EAE
3E(Cr) 0.05mg/LO| ot g2 | 10 SDLIOMS & A 0.5mg/LOI Gt 2As
ESRAPNESIES 10mg/LO| Gt 1.9 12 It==Z(Cd) 0.005mg/LOI &t =d=
Hl = (Phenol ) 0.005mg/L Ol ot 2245 | 14 SECEZME 0.1mg/LOI Gt 0.004
CtOIOF Kl = 0.02mg/LOl ot 22 | 16 mtetel= 0.06mg/LOI ot EAE
le-Cieze-3-222z=2e| (,003mg/L0| ot EHE 18 HLEZEX 0.04mg/LO| Gt 2= )
Pl sl= 0.07mg/LO| Gt EZE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LOI Gt =d=
HECIZ2Z0 0.01mg/LOl Gt g8 | 22 Ecl2z20 0.03mg/LOI Gt 2As
CIZ=2=HE 0.02mg/LOl ot 22 | 4 gl ®l (Benzene) 0.01mg/LOI Bt S
E20(Toluene) 0.7mg/LOl Gt EdE | 26 Ol & gl 0.3mg/LOIGt E2ds
alel 0.5mg/LOI Gt =3 28 | 1.1-CIZZ220Ed 0.03mg/LOI &t =4S
MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 24
WA ZSAH|E 10mg/LO| Gt =3 32 & A (Odor ) ol gl A =3
Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
M= (Colority) 5% 0lat EZE | 36 M Al (ABS) 0.5mg/LOI 5t SEE
201255 (pH) 5.8~8.5 7.5 38 Ot (Zn) 3mg/L Ol ot A=
HA0|2 250mg/L 0| Gt 6.8 40 SEAA== 500mg/LO| Gt 68
& (Fe) 0.3mg/LOI Gt 228 | 42 2t 2k(Mn) 0.05mg/LOI St A=
&S (Turbidity) 0.5NTU Ol ot 0.17 44 EHat0I 2 200mg/LO| ot 2
2205 (Al) 0.2mg/LO| Gt =23 46 PR 4mg/LO| Gt 0.43
=2(B) 1.0mg/LO| Gt =3 48 Sz ES 0.08mg/LOI &t =4S
cALUEZEZ £ Z/100mL =23 50 | 2= Z0ol0IEd0IE 0.03mg/LOI Gt =
CIE220tMELIEE | 0.1mg/LOI 5t 2 52 |CI2Z220tMELIEZ | 0.09mg/LOI Gt 28t
ECZZZ0tNELIEZ | 0.004mg/LOI ot =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
EZ2RC02=2HE 0.03mg/LOI Gt =3 56| CIEZ2RZZ2=20E 0.1mg/LOI Gt =4S
1.4-CtO| = &t 0.05mg/L 0| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
&z £ E/100mL 2248 | 60 E54E 0.01mg/LOI St EAE
fets 30ug/L Ol ot =3
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2 A =2 SEI|E ZAFZ It 2 A E S +AI|= ZAFZ It
1 2 BNl 100CFU/mLOI Gt 0 2 ESEHEZZ £ 2 =/100mL = E
3 & (Pb) 0.01mg/LO| Gt == 4 EA(F) 1.5mg/LO| Gt ==
5 Bl (As) 0.01mg/LO[ Gt =EdE 6 Mgl & (Se) 0.01mg/LOI 5t =3 E
7 22 (Hg) 0.001mg/LOI Gt == 8 AI2H(CN) 0.01mg/LOI Gt ==
9 3E(Cr) 0.05mg/LO| Gt =38 10 ADLIOIEE A 0.5mg/LOI Gt =3E
11 AMEEA 10mg/LOl Gt 2.1 12 It==Z(Cd) 0.005mg/LOI &t =d=
13 Hl = (Phenol) 0.005mg/LOI Gt =38 14 SECIZZ20IE 0. 1mg/LOI Gt =3E
15 CtOIOFKl = 0.02mg/L 0| Gt =TE 16 Itetele 0.06mg/LO| Gt =d=
17 [1.2-0i222-3-222==28| (.003mg/LO| 3t =38 18 HLEZEI=2 0.04mg/LOI Gt =3E
19 Pl sl= 0.07mg/LO| Gt =TE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LO| Gt =d=
21 | HEASZZ0Ed 0.01mg/LOI Gt EZE | 22 EclEz=20Ed 0.03mg/LOI Gt =3E
23 CIE2=2=20HE 0.02mg/LOI Gt EHE |24 gl ®l (Benzene) 0.01mg/LOI Gt E3E
25 E20(Toluene) 0.7mg/LOl Gt EdE | 26 Ol & gl 0.3mg/LOIGt E2ds
27 a4l 0.5mg/LOI Gt =EZE | 28 -CIZ220Ed 0.03mg/LOI &t =4S
29 MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 4
31| WS AHIE 10mg/LOl Gt =3 32 & A (Odor ) ol gl A ESk=)
33 Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
35 M= (Colority) 5% 0|5t 224 | 36 MIHI(ABS) 0.5mg/L 0| 5t EAE
37| =2012=5%(pH) 5.8~8.5 6.8 38 Ot (zn) 3mg/L 0| ot 0.002
39 gA02 250mg/L 0| Gt 3.2 40 SEAA== 500mg/LO| Gt 37
41 E (Fe) 0.3mg/LOI Gt EZE | 42 2 2H(Mn) 0.05mg/LOI Gt =3E
43 &S (Turbidity) 0.5NTU Ol ot 0.06 44 EHat0I 2 200mg/L 0| &t =4S
45 2205 (Al) 0.2mg/LO| Gt =23 46 SR 4mg/LO| Gt 1.25
47 S4(B) 1.0mg/LOI Gt 0.01 48 Sz ES 0.08mg/LOI Gt =4S
49 cALUEZEZ EZ=/100mL =23 50 | 2=2Zot0IEdI0IE 0.03mg/LO| Gt =
51 |CIEZ20tMELIEE | 0.1mg/LOl 5t 3et 52 |CIZ2220tMELIEE | 0.09mg/LO| ot &t
58 cI2220tMELIEE| 0.004mg/LO| Gt =y 54 SZ20tMIE0IAIE 0.1mg/LO| Gt =
5 | EZ2RCIZS2Z=2MHE 0.03mg/LOI &t =3 56| CIEZ2RZZ2=20E 0.1mg/LOI &t =3&
57 1.4-CtO| = &t 0.05mg/LO| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
59 & £ 2 &/100mL =ZE | 60 B84t 0.01mg/LOI Gk =&
61 fets 30ug/L Ol ot =3
g=g2 )| EAEg=dy
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o AR FETAS BAWAS), oFHE, NF, AFA FABA ARuich
2 A& S +&I| &= ZAHZ 1t Z AL E = SEI| = 2 A
BNl 100CFU/mL Ol St 0 2 EUHEZ2 £ E/100mL 2=
& (Pb) 0.01mg/LOl ot E2E 4 E4(F) 1.5mg/LOI Gt EAE
Bl 2 (As) 0.01mg/LOI Bt E2A= 6 Nl & (Se) 0.01mg/LOI St 2=
=2 (Hag) 0.001mg/LOI oF E2E 8 AI2H(CN) 0.01mg/LOl ot EAE
3E(Cr) 0.05mg/LO| ot g2 | 10 SDLIOMS & A 0.5mg/LOI Gt 2As
ESRAPNESIES 10mg/LO| Gt 0.2 12 It==Z(Cd) 0.005mg/LOI &t =d=
Hl = (Phenol ) 0.005mg/L Ol ot 2245 | 14 SECEZME 0.1mg/LOI Gt 0.006
CtOIOF Kl = 0.02mg/LOl ot 22 | 16 mtetel= 0.06mg/LOI ot EAE
le-Cieze-3-222z=2e| (,003mg/L0| ot EHE 18 HLEZEX 0.04mg/LO| Gt 2= )
Pl sl= 0.07mg/LO| Gt EZE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LOI Gt =d=
HECIZ2Z0 0.01mg/LOl Gt g8 | 22 Ecl2z20 0.03mg/LOI Gt 2As
CIZ=2=HE 0.02mg/LOl ot 22 | 4 gl ®l (Benzene) 0.01mg/LOl ot S
E209(Toluene) 0.7mg/LOl ot EZE | 26 Ol & #lF 0.3mg/LO[ Gt sSdE
alel 0.5mg/LOI Gt =3 28 | 1.1-CIZZ220Ed 0.03mg/LOI &t =4S
MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 26
WA ZSAH|E 10mg/LO| Gt =3 32 & A (Odor ) ol gl A =3
Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
M= (Colority) 5% 0lat EZE | 36 M Al (ABS) 0.5mg/LOI 5t SEE
20125 % (pH) 5.8~8.5 7.3 38 Ot (zn) 3mg/L 0| ot 0.004
A0 2 250mg/LO| Gt 5.2 40 SYLE= 500mg/L Ol ot 77
& (Fe) 0.3mg/LOI Gt 228 | 42 2t 2k(Mn) 0.05mg/LOI St A=
&S (Turbidity) 0.5NTU Ol ot 0.24 44 EHat0I 2 200mg/L 0| &t 2
2 =20|5(Al) 0.2mg/L Ol 5t 0.04 46 A=A 4mg/LO| of 0.6
=2(B) 1.0mg/LOl ot =3 48 222X E 0.08mg/LOl 6t 0.00
cALUEZEZ £ Z/100mL =23 50 | 2= Z0ol0IEd0IE 0.03mg/LOI Gt =
CIEZ20tMELIEZ | 0.1mg/LOI 5t 2 52 |CI2Z220tMELIEZ | 0.09mg/LOI Gt 28t
ECZZZ0tNELIEZ | 0.004mg/LOI ot =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
BZL2C2=2ZMHE | 0.03mg/LOI5t 222 |56 | UEZRESZ20E 0.1mg/LOIGt EAE
1.4-CtO| = &t 0.05mg/L 0| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
& £ E/100mL 2248 | 60 HEAN 0.01mg/LOI Gt EAE
fts 304g/L OlGt 0.1
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FEE! Hlsta s E gU
= AFEEAAX EAASFE R A= qbd st AR FRES T
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o o] Ze) A4 FAAA AR HEE FAY A AR
= FHRAFE I 79 7S (FE,3Y,89,949), 2AFEY HE2AE1E) Y
2 A& S +&I| &= ZAHZ 1t Z AL E = SEI| = ZALZE
BNl 100CFU/mL Ol St 0 2 EUHEZ2 £ E/100mL 2=
& (Pb) 0.01mg/LOl ot E2E 4 E4(F) 1.5mg/LOI Gt EAE
Bl 2 (As) 0.01mg/LOI Bt E2A= 6 Nl & (Se) 0.01mg/LOI St 2=
=2 (Hag) 0.001mg/LOI oF E2E 8 AI2H(CN) 0.01mg/LOl ot EAE
3E(Cr) 0.05mg/LO| ot g2 | 10 SDLIOMS & A 0.5mg/LOI Gt 2As
ESRAPNESIES 10mg/LO| Gt 1.5 12 It==Z(Cd) 0.005mg/LOI &t =d=
Hl = (Phenol ) 0.005mg/L Ol ot 2245 | 14 SECEZME 0.1mg/LOI Gt 2As
CtOIOF Kl = 0.02mg/LOl ot 22 | 16 mtetel= 0.06mg/LOI ot EAE
le-Cieze-3-222z=2e| (,003mg/L0| ot EHE 18 HLEZEX 0.04mg/LO| Gt 2= )
Pl sl= 0.07mg/LO| Gt EZE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LOI Gt =d=
HECIZ2Z0 0.01mg/LOl Gt g8 | 22 Ecl2z20 0.03mg/LOI Gt 2As
CIZ=2=HE 0.02mg/LOl ot 22 | 4 gl ®l (Benzene) 0.01mg/LOI Bt S
E209(Toluene) 0.7mg/LOl ot EZE | 26 Ol & #lF 0.3mg/LO[ Gt sSdE
alel 0.5mg/LOI Gt =3 28 | 1.1-CIZZ220Ed 0.03mg/LOI &t =4S
MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 40
WA ZSAH|E 10mg/LO| Gt =3 32 & A (Odor ) ol gl A =3
Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
M= (Colority) 5% 0lat EZE | 36 M Al (ABS) 0.5mg/LOI 5t SEE
201255 (pH) 5.8~8.5 8.0 38 Ot (Zn) 3mg/L Ol ot A=
HA0|2 250mg/L 0| Gt 34.5 40 SEAA== 500mg/LO| Gt 133
& (Fe) 0.3mg/LOI Gt 228 | 42 2t 2k(Mn) 0.05mg/LOI St A=
&S (Turbidity) 0.5NTU Ol ot 0.06 44 EHat0I 2 200mg/L 0| &t 6
2205 (Al) 0.2mg/LO| Gt =23 46 PR 4mg/LO| Gt 0.37
=2(B) 1.0mg/LO| Gt 0.01 48 S2Z2EE 0.08mg/LOl 6t =3&
cALUEZEZ £ Z/100mL =23 50 | 2= Z0ol0IEd0IE 0.03mg/LOI Gt =
CIEZ20tMELIEZ | 0.1mg/LOI 5t 2 52 |CI2Z220tMELIEZ | 0.09mg/LOI Gt 28t
ECZZZ0tNELIEZ | 0.004mg/LOI ot =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
BZL2C2=2ZMHE | 0.03mg/LOI5t 222 |56 | UEZRESZ20E 0.1mg/LOIGt EAE
1.4-CtO| = &t 0.05mg/L 0| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
& £ E/100mL 2248 | 60 HEAN 0.01mg/LOI Gt EAE
fets 30ug/L Ol ot =3
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FEE! S A E gyt

o AFERAR EARSFERRA N E BRI ARY FEES FHE) 5t
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o

gL FETIS THY, FUS, AL, $EY, 4%, $5, A%, 3%, 5E, $4F

2 A& S +&I| &= ZAHZ 1t Z AL E = SEI| = A
BNl 100CFU/mL Ol St 0 2 EUHEZ2 £ E/100mL 2=
& (Pb) 0.01mg/LOl ot E2E 4 E4(F) 1.5mg/LOI Gt EAE
Bl 2 (As) 0.01mg/LOI Bt E2A= 6 Nl & (Se) 0.01mg/LOI St 2=
=2 (Hag) 0.001mg/LOI oF E2E 8 AI2H(CN) 0.01mg/LOl ot EAE
3E(Cr) 0.05mg/LO| ot g2 | 10 SDLIOMS & A 0.5mg/LOI Gt 2As
ESRAPNESIES 10mg/LO| Gt 1.9 12 It==Z(Cd) 0.005mg/LOI &t =d=
Hl = (Phenol ) 0.005mg/L Ol ot 2245 | 14 SECEZME 0.1mg/LOI Gt 0.002
CtOIOF Kl = 0.02mg/LOl ot 22 | 16 mtetel= 0.06mg/LOI ot EAE
le-Cieze-3-222z=2e| (,003mg/L0| ot EHE 18 HLEZEX 0.04mg/LO| Gt 2= )
Pl sl= 0.07mg/LO| Gt EZE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LOI Gt =d=
HECIZ2Z0 0.01mg/LOl Gt g8 | 22 Ecl2z20 0.03mg/LOI Gt 2As
CIZ=2=HE 0.02mg/LOl ot 22 | 4 gl ®l (Benzene) 0.01mg/LOI Bt S
E20(Toluene) 0.7mg/LOl Gt EdE | 26 Ol & gl 0.3mg/LOIGt E2ds
alel 0.5mg/LOI Gt =3 28 | 1.1-CIZZ220Ed 0.03mg/LOI &t =4S

MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 33
WA ZSAH|E 10mg/LO| Gt =3 32 & A (Odor ) ol gl A =3
Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
M= (Colority) 5% 0lat EZE | 36 M Al (ABS) 0.5mg/LOI 5t SEE
201255 (pH) 5.8~8.5 7.7 38 Ot (Zn) 3mg/L Ol ot A=

HA0|2 250mg/L 0| Gt 9.6 40 SEAA== 500mg/LO| Gt 84
& (Fe) 0.3mg/LOI Gt 228 | 42 2t 2k(Mn) 0.05mg/LOI St A=

&S (Turbidity) 0.5NTU Ol ot 0.06 44 EHat0I 2 200mg/L 0| &t 2
2205 (Al) 0.2mg/LO| Gt =23 46 PR 4mg/LO| Gt 0.73
=2(B) 1.0mg/LOI Gt =dE 48 Sz ES 0.08mg/LOI &t =4S
cALUEZEZ £ Z/100mL =23 50 | 2= Z0ol0IEd0IE 0.03mg/LOI Gt =
CIEZ20tMELIEZ | 0.1mg/LOI 5t 2 52 |CI2Z220tMELIEZ | 0.09mg/LOI Gt 28t
ECZZZ0tNELIEZ | 0.004mg/LOI ot =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
BZL2C2=2ZMHE | 0.03mg/LOI5t 222 |56 | UEZRESZ20E 0.1mg/LOIGt EAE
1.4-CtO| = &t 0.05mg/L 0| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
& £ E/100mL 2248 | 60 HEAN 0.01mg/LOI Gt EAE

fets 30ug/L Ol ot =3
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v o] 2ol AFR FARAA A= Hew FAVE AR
= AR FETAL N (RF1 - 39), 9F, =FF AFYU
2 A& S +&I| &= ZAHZ 1t Z AL E = SEI| = A
BNl 100CFU/mL Ol St 0 2 EUHEZ2 £2=/100mL 2=
& (Pb) 0.01mg/LOl ot E2E 4 E4(F) 1.5mg/LOI Gt EAE
Bl 2 (As) 0.01mg/LOI Bt E2A= 6 Nl & (Se) 0.01mg/LOI St 2=
=2 (Hag) 0.001mg/LOI oF E2E 8 AI2H(CN) 0.01mg/LOl ot EAE
3E(Cr) 0.05mg/LO| ot g2 | 10 SDLIOMS & A 0.5mg/LOI Gt 2As
ESRAPNESIES 10mg/LO| Gt 1.8 12 It==Z(Cd) 0.005mg/LOI &t =d=
Hl = (Phenol ) 0.005mg/L Ol ot 2245 | 14 SECEZME 0.1mg/LOI Gt 2As
CtOIOF Kl = 0.02mg/LOl ot 22 | 16 mtetel= 0.06mg/LOI ot EAE
le-Cieze-3-222z=2e| (,003mg/L0| ot EHE 18 HLEZEX 0.04mg/LO| Gt 2= )
Pl sl= 0.07mg/LO| Gt EZE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LOI Gt =d=
HECIZ2Z0 0.01mg/LOl Gt g8 | 22 Ecl2z20 0.03mg/LOI Gt 2As
CIZ=2=HE 0.02mg/LOl ot 22 | 4 gl ®l (Benzene) 0.01mg/LOI Bt S
E209(Toluene) 0.7mg/LOl ot EZE | 26 Ol & #lF 0.3mg/LO[ Gt sSdE
alel 0.5mg/LOI Gt =3 28 | 1.1-CIZZ220Ed 0.03mg/LOI &t =4S
MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 31
WA ZSAH|E 10mg/LO| Gt =3 32 & A (Odor ) ol gl A =3
Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
M= (Colority) 5% 0lat EZE | 36 M Al (ABS) 0.5mg/LOI 5t SEE
201255 (pH) 5.8~8.5 7.7 38 Ot (Zn) 3mg/L Ol ot A=
HA0|2 250mg/L 0| Gt 10.2 40 SEAA== 500mg/LO| Gt 82
& (Fe) 0.3mg/LOI Gt 228 | 42 2t 2k(Mn) 0.05mg/LOI St A=
&S (Turbidity) 0.5NTU Ol ot 0.13 44 EHat0I 2 200mg/L 0| &t 3
2205 (Al) 0.2mg/LO| Gt =23 46 PR 4mg/LO| Gt 0.45
=2(B) 1.0mg/LOI Gt =dE 48 Sz ES 0.08mg/LOI &t =4S
cALUEZEZ £ Z/100mL =23 50 | 2= Z0ol0IEd0IE 0.03mg/LOI Gt =
CIEZ20tMELIEZ | 0.1mg/LOI 5t 2 52 |CI2Z220tMELIEZ | 0.09mg/LOI Gt 28t
ECZZZ0tNELIEZ | 0.004mg/LOI ot =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
BZL2C2=2ZMHE | 0.03mg/LOI5t 222 |56 | UEZRESZ20E 0.1mg/LOIGt EAE
1.4-CtO| = &t 0.05mg/L 0| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
& £ E/100mL 2248 | 60 HEAN 0.01mg/LOI Gt EAE
fets 30ug/L Ol ot =3




2020862 & =& =ZHA 21

Nal=2X : 20202 63 8¢ 2 M : S

< =)
TFxrE! ¢lsta rt = Y
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= 2RSSR FETHE A2, o|E2, ok, 2HF(EAAE,SE AN ELE) dFgY

2 A& S +&I| &= ZAHZ 1t Z AL E = SEI| = ZALZE
1 BNl 100CFU/mL Ol St 0 2 EHEZ2 £ E/100mL 2=
3 & (Pb) 0.01mg/LOl ot E2E 4 EA(F) 1.5mg/LOI Gt EAE
5 Bl 2 (As) 0.01mg/LOl ot E2A= 6 Nl & (Se) 0.01mg/LOI St 2=
7 =2 (Hag) 0.001mg/LOl ot E2E 8 AI2H(CN) 0.01mg/LOl ot EAE
9 3E(Cr) 0.05mg/LOI St g2 | 10 SDLIOMS & A 0.5mg/LOI Gt 2As
11 ESRAPNESIES 10mg/LO| Gt 2.7 12 It==Z(Cd) 0.005mg/LOI &t =d=
13 Hl = (Phenol ) 0.005mg/L Ol ot 2245 | 14 ZECEZME 0.1mg/LOI Gt 0.004
15 CtOIOt Kl = 0.02mg/L 0| Gt EZE 16 Itetele 0.06mg/LOI Gt =d=
17 [1.2-0i222-3-222==28| (.003mg/LO| 3t =38 18 HLEZEI=2 0.04mg/LOI Gt =3E
19 Pl sl= 0.07mg/LO| Gt EZE 20 | 1.1.1-ECI2=2=0E| 0.1mg/LOIGH =d=
21| HEZZ=20 0.01mg/LOl ot g8 | 22 Ecl2z20 0.03mg/LOI Gt 2As
23 CIE2=2=20HE 0.02mg/LOI Gt EHE |24 gl ®l (Benzene) 0.01mg/LOI Gt E3E
25 E 2 (Toluene) 0.7mg/L Ol Bt 22 | 26 Ol & il &I 0.3mg/LOI Gt A=
27 a4l 0.5mg/LOI Gt =3 28 | 1.1-CIZZ220Ed 0.03mg/LOI &t =4S
29 AP SHERA 0.002mg/L 0Ol &t EZE | 0 & & (Hardness) 300mg/LO[ Gt 38
31| WS AHIE 10mg/LO| Gt =3 32 & A (Odor ) ol gl A ESk=)
33 Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
35 M (Colority) 5% 0|ot =3 36 NI Kl (ABS) 0.5mg/LO| Gt =4S
37 #2025 (pH) 5.8~8.5 7.8 38 Ot& (Zn) 3mg/LO]| &t 0.003
39 gA02 250mg/LO| Gt 11.6 40 SEAA== 500mg/LO| Gt 94
41 & (Fe) 0.3mg/LOI Gt 228 | 42 2t 2k(Mn) 0.05mg/LOI St A=
43 &S (Turbidity) 0.5NTU Ol ot 0.08 44 EHat0I 2 200mg/L 0| &t 4
45 2205 (Al) 0.2mg/LO| Gt =23 46 SR 4mg/LO| Gt 0.45
47 =2(B) 1.0mg/LOI Gt =dE 48 Sz ES 0.08mg/LOI &t =4S
49 cALUEZEZ £ Z/100mL =23 50 | 2= Z0ol0IEd0IE 0.03mg/LOI Gt =
51 |LIEZ20tNELIEE 0.1mg/LOl Gt 2t 52 |CIZ2220tMELIEE | 0.09mg/LO| ot =&t
53 |ECIZZ20tMELIEE| 0.004mg/LO| Gt =y 54 SZ20tMIE0IAIE 0.1mg/LO| Gt =
5 | ER2ELZZZ0IE 0.03mg/LOI &t =3 56| CIEZ2RZZ2=20E 0.1mg/LOI Gt =4S
57 1.4-CtO| = &t 0.05mg/L 0| Gt =23 58 ZIE2O0IE 0.5mg/LOI Gt =
59 & £ E/100mL 2248 | 60 HEAN 0.01mg/LOI Gt EAE
61 fets 301g/L Ol ot =3
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2 A& S +&I| &= ZAHZ 1t Z AL E = SEI| = A
BNl 100CFU/mL Ol St 0 2 EUHEZ2 £2=/100mL 2=
& (Pb) 0.01mg/LOl ot E2E 4 E4(F) 1.5mg/LOI Gt EAE
Bl 2 (As) 0.01mg/LOI Bt E2A= 6 Nl & (Se) 0.01mg/LOI St 2=
=2 (Hag) 0.001mg/LOI oF E2E 8 AI2H(CN) 0.01mg/LOl ot EAE
3E(Cr) 0.05mg/LO| ot g2 | 10 SDLIOMS & A 0.5mg/LOI Gt 2As
ESRAPNESIES 10mg/LO| Gt 1.4 12 It==Z(Cd) 0.005mg/LOI &t =d=
Hl = (Phenol ) 0.005mg/L Ol ot 2245 | 14 SECEZME 0.1mg/LOI Gt 2As
CtOIOF Kl = 0.02mg/LOl ot 22 | 16 mtetel= 0.06mg/LOI ot EAE
le-Cieze-3-222z=2e| (,003mg/L0| ot EHE 18 HLEZEX 0.04mg/LO| Gt 2= )
Pl sl= 0.07mg/LO| Gt EZE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LOI Gt =d=
HECIZ2Z0 0.01mg/LOl Gt g8 | 22 Ecl2z20 0.03mg/LOI Gt 2As
CIZ=2=HE 0.02mg/LOl ot 22 | 4 gl ®l (Benzene) 0.01mg/LOI Bt S
E209(Toluene) 0.7mg/LOl ot EZE | 26 Ol & #lF 0.3mg/LO[ Gt sSdE
alel 0.5mg/LOI Gt =3 28 | 1.1-CIZZ220Ed 0.03mg/LOI &t =4S

MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 26
WA ZSAH|E 10mg/LO| Gt =3 32 & A (Odor ) ol gl A =3
Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
M= (Colority) 5% 0lat EZE | 36 M Al (ABS) 0.5mg/LOI 5t SEE
201255 (pH) 5.8~8.5 7.3 38 Ot (Zn) 3mg/L Ol ot A=

HA0|2 250mg/L 0| Gt 6.5 40 SEAA== 500mg/LO| Gt 68
& (Fe) 0.3mg/LOI Gt 228 | 42 2t 2k(Mn) 0.05mg/LOI St A=

&S (Turbidity) 0.5NTU Ol ot 0.06 44 EHat0I 2 200mg/L 0| &t 2
2205 (Al) 0.2mg/LO| Gt =23 46 PR 4mg/LO| Gt 0.42
=2(B) 1.0mg/LOI Gt =dE 48 Sz ES 0.08mg/LOI &t =4S
cALUEZEZ £ Z/100mL =23 50 | 2= Z0ol0IEd0IE 0.03mg/LOI Gt =
CIEZ20tMELIEZ | 0.1mg/LOI 5t 2 52 |CI2Z220tMELIEZ | 0.09mg/LOI Gt 28t
ECZZZ0tNELIEZ | 0.004mg/LOI ot =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
BZL2C2=2ZMHE | 0.03mg/LOI5t 222 |56 | UEZRESZ20E 0.1mg/LOIGt EAE
1.4-CtO| = &t 0.05mg/L 0| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
& £ E/100mL 2248 | 60 HEAN 0.01mg/LOI Gt EAE

fets 30ug/L Ol ot =3
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Z A& = =Z&I|&E ZAHE 1t Z A& = =&I|&E 2 AHE 1t
1 2 BNl 100CFU/mLOI Gt 0 2 ESEHEZZ 24 Z/100mL = E
3 &H(Pb) 0.01mg/LO| Gt == 4 EA(F) 1.5mg/LO| Gt ==
5 Bl (As) 0.01mg/LO[ Gt =EdE 6 Mgl & (Se) 0.01mg/LOI 5t =3 E
7 22 (Hg) 0.001mg/LOI Gt == 8 AI2H(CN) 0.01mg/LO| Gt ==
9 3E(Cr) 0.05mg/LO| Gt =38 10 ADLIOIEE A 0.5mg/LOI Gt =3E
11 AMEEA 10mg/LO| Gt 0.6 12 =& (Cd) 0.005mg/LOI &t =d=
13 Hl = (Phenol) 0.005mg/LOI Gt =38 14 ZECEZ0E 0. 1mg/LOI Gt =3E
15 CtOIOFKl = 0.02mg/LO| Gt =TE 16 Itetele 0.06mg/LO| Gt =d=
17 |1.2-0IE22-3-222Z2%| (.003mg/LO| ot =2EE 18 HLEZEI=2 0.04mg/LOI Gt =4S
19 Pl sl= 0.07mg/LO| Gt =TE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LO| Gt =d=
21 | HEASZZ0Ed 0.01mg/LOI Gt =38 22 EclEz=20Ed 0.03mg/LOI Gt =3E
23 CIE2=2=20HE 0.02mg/LOI Gt EHE |24 gl ®l (Benzene) 0.01mg/LOI Gt E3E
25 E20(Toluene) 0.7mg/LOl Gt EdE | 26 Ol & gl 0.3mg/LOIGt E2ds
27 a4l 0.5mg/LOI Gt == 28 -CIZ220Ed 0.03mg/LOI &t =4S
29 MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 49
31| WS AHIE 10mg/LOl Gt =3 32 & A (Odor ) ol gl A ESk=)
33 Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
35 M= (Colority) 5% 0|5t 224 | 36 MIHI(ABS) 0.5mg/L 0| 5t EAE
37 #2025 (pH) 5.8~8.5 7.8 38 Ot& (Zn) 3mg/LO]| &t =3E
39 gA02 250mg/L 0| Gt 7.1 40 SEAA== 500mg/LO| Gt 113
41 E (Fe) 0.3mg/LOI Gt EZE | 42 a2k (Mn) 0.05mg/LOI Gt =3E
43 &S (Turbidity) 0.5NTU Ol ot 0.06 44 EHat0I 2 200mg/L 0| &t 2
45 2205 (Al) 0.2mg/LO| Gt =23 46 SR 4mg/LO| Gt 0.55
47 S4(B) 1.0mg/LOI Gt =3 48 Sz ES 0.08mg/LOI Gt =4S
49 cALUEZEZ EZ=/100mL =23 50 | 2=2Zot0IEdI0IE 0.03mg/LO| Gt =
51 |CIEZ20tMELIEE | 0.1mg/LOl 5t 3et 52 |CIZ2220tMELIEE | 0.09mg/LO| ot =3¢t
58 cI2220tMELIEE| 0.004mg/LO| Gt =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
5 | EZ2RCIZS2Z=2MHE 0.03mg/LOI &t =3 56| CIEZ2RZZ2=20E 0.1mg/LOI &t =3&
57 1.4-CtO| = &t 0.05mg/LO| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
59 & £ 2 &/100mL =dE 60 B84t 0.01mg/LOI Gk =&
61 fets 30ug/L Ol ot 0.4
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Z A& = =Z&I|&E ZAHE 1t Z A& = =&I|&E 2 A
2 BNl 100CFU/mLOI Gt 0 2 ESEHEZZ 24 Z/100mL = E
&H(Pb) 0.01mg/LO| Gt == 4 EA(F) 1.5mg/LO| Gt ==
Bl (As) 0.01mg/LO[ Gt =EdE 6 Mgl & (Se) 0.01mg/LOI 5t =3 E
22 (Hg) 0.001mg/LOI Gt == 8 AI2H(CN) 0.01mg/LOI Gt ==
3E(Cr) 0.05mg/LOI Gt =38 10 ADLIOIEE A 0.5mg/LOI Gt =3E
ESRAPNESIES 10mg/LOl Gt 2.2 12 =& (Cd) 0.005mg/LOI Gt =d=

Hl = (Phenol) 0.005mg/L Ol Gt =38 14 ZECEZ0E 0. 1mg/LOI Gt 0.001
CtOIOF Kl = 0.02mg/L 0| Gt =TE 16 Itetele 0.06mg/LOI Gt =d=
1.2-0222-3-222=x=28 (,003mg/LO| 3t =38 18 HLEZEI=2 0.04mg/LOI Gt =3E
Pl sl= 0.07mg/LO| Gt =TE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LO| Gt =d=
HECZS=Z=0Ed 0.01mg/LOI Gt =38 22 EclEz=20Ed 0.03mg/LOI Gt =3E
CIZ=2=HE 0.02mg/LOl ot 22 | 4 gl ®l (Benzene) 0.01mg/LOI Bt S
E209(Toluene) 0.7mg/LOl ot EZE | 26 Ol & #lF 0.3mg/LO[ Gt sSdE
alel 0.5mg/LOI Gt == 28 -CIZ220Ed 0.03mg/LOI &t =4S

AHSI SHEFA 0.002mg/LO| ot E3E | 30 Z & (Hardness) 300mg/LOl ot 31
WA ZSAH|E 10mg/LO| Gt =3 32 & A (Odor ) ol gl A ESk=)
Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
M (Colority) 5% 0|3t 2= | 36 KIAI (ABS) 0.5mg/L0| 5t A=
#2025 (pH) 5.8~8.5 7.9 38 Ot& (Zn) 3mg/LO]| &t 0.004

HA0|2 250mg/L 0| Gt 9.8 40 SEAA== 500mg/LO| Gt 87

E (Fe) 0.3mg/LOI Gt EZE | 42 a2k (Mn) 0.05mg/LOI Gt =3

&S (Turbidity) 0.5NTU Ol ot 0.07 44 EHat0I 2 200mg/L 0| &t 4

2205 (Al) 0.2mg/LO| Gt =23 46 SR 4mg/LO| Gt 0.4
=2(B) 1.0mg/LO| Gt =3 48 Sz ES 0.08mg/LOI &t =4S
cALUEZEZ £ Z/100mL =23 50 | 2= Z0ol0IEd0IE 0.03mg/LO| Gt =
CIEZ20tMELIEE | 0.1mg/LOloH 3et 52 |CIZ2220tMELIEE | 0.09mg/LO| ot =3¢t
cI2220tMELIEE| 0.004mg/LO| Gt =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
S22 20E 0.03mg/LOI &t =3 56| CIEZ2RZZ2=20E 0.1mg/LOI Gt =4S
1.4-CtO| = &t 0.05mg/LO| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
& £ 2 &/100mL =dE 60 B84t 0.01mg/LOI Gk =&

ets 30ug/L Ol ot =3
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Z A& = =Z&I|&E ZAHE 1t Z A& = =&I|&E 2 AHE 1t
1 2 BNl 100CFU/mLOI Gt 0 2 ESEHEZZ £ 2 =/100mL = E
3 &H(Pb) 0.01mg/LO| Gt == 4 EA(F) 1.5mg/LO| Gt ==
5 Bl (As) 0.01mg/LO[ Gt =EdE 6 Mgl & (Se) 0.01mg/LOI 5t =3 E
7 22 (Hg) 0.001mg/LOI Gt == 8 AI2H(CN) 0.01mg/LO| Gt ==
9 3E(Cr) 0.05mg/LO| Gt =38 10 ADLIOIEE A 0.5mg/LOI Gt =3E
11 AMEEA 10mg/LO| Gt 1.4 12 =& (Cd) 0.005mg/LOI &t =d=
13 Hl = (Phenol) 0.005mg/LOI Gt =38 14 ZECEZ0E 0. 1mg/LOI Gt =3E
15 CtOIOFKl = 0.02mg/LO| Gt =TE 16 Itetele 0.06mg/LO| Gt =d=
17 |1.2-0IE22-3-222Z2%| (.003mg/LO| ot =2EE 18 HLEZEI=2 0.04mg/LOI Gt =4S
19 Jtet e 0.07mg/LO| Gt =TE 20 |1.1.1-E2IZ2Z2 0 E 0.1mg/LO| Gt =d=
21 | HEASZZ0Ed 0.01mg/LOI Gt =38 22 EclEz=20Ed 0.03mg/LOI Gt =3E
23 CIE2=2=20HE 0.02mg/LOI Gt EHE |24 gl ®l (Benzene) 0.01mg/LOI Gt E3E
25 E20(Toluene) 0.7mg/LOl Gt EdE | 26 Ol & gl 0.3mg/LOIGt E2ds
27 alel 0.5mg/LO| Gt =HE 28| 1.1-CIZ2Z220 E 0.03mg/LO| &t =4S
29 MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 34
31| WS AHIE 10mg/LO| Gt =3 32 & A (Odor ) ol gl A =3
33 Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
35 M= (Colority) 5% 0|5t 224 | 36 MIHI(ABS) 0.5mg/L 0| 5t EAE
37 #2025 (pH) 5.8~8.5 8.0 38 Ot& (Zn) 3mg/LO]| &t =3E
39 gA02 250mg/L 0| Gt 10.1 40 SEAA== 500mg/LO| Gt 87
41 E (Fe) 0.3mg/LOI Gt EZE | 42 a2k (Mn) 0.05mg/LOI Gt =3E
43 &S (Turbidity) 0.5NTU Ol ot 0.06 44 EHat0I 2 200mg/L 0| &t 2
45 2205 (Al) 0.2mg/LO| Gt =23 46 SR 4mg/LO| Gt 0.85
47 S4(B) 1.0mg/LOI Gt =ZE | 48 22Z2LEE 0.08mg/LOI Gt =&
49 cALUEZEZ EZ=/100mL =23 50 | 2=2Zot0IEdI0IE 0.03mg/LO| Gt =
51 |CIEZ20tMELIEE | 0.1mg/LOl 5t 2t 52 |CIZ2220tMELIEE | 0.09mg/LO| ot =3¢t
53 |ECIZZ20tMELIEE| 0.004mg/LO| Gt =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
5 | EZ2RCIZS2Z=2MHE 0.03mg/LOI &t =3 56| CIEZ2RZZ2=20E 0.1mg/LOI &t =3&
57 1.4-CtO| = &t 0.05mg/LO| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
59 & £ 2 &/100mL =dE 60 B84t 0.01mg/LOI Gk =&
61 fets 30ug/L Ol ot =3
g=g2 )| EAEg=dy
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2 A& S +&I| &= ZAHZ 1t Z AL E = SEI| = ZIA2
BNl 100CFU/mLOl ot 0 2 EUHEZ2 £ E/100mL 2=
& (Pb) 0.01mg/LOl ot E2E 4 SA(F) 1.5mg/LO| 5t EAE
Bl 2 (As) 0.01mg/LOI Bt E2A= 6 Nl & (Se) 0.01mg/LOI ot 2=
=2 (Hag) 0.001mg/LOI oF E2E 8 AI2H(CN) 0.01mg/LOl ot EAE
3E(Cr) 0.05mg/LO| ot g2 | 10 SDLIOMS & A 0.5mg/LOI Gt 2As
ESRAPNESIES 10mg/LO| Gt 0.2 12 It==Z(Cd) 0.005mg/LOI &t =d=
Hl = (Phenol ) 0.005mg/LOl ot 2245 | 14 SECEZME 0.1mg/LOI Gt 2As
CtOIOF Kl = 0.02mg/LOl ot 22 | 16 mtetel= 0.06mg/LOI ot EAE
le-Cieze-3-222z=2e| (,003mg/L0| ot EHE 18 HLEZEX 0.04mg/LO| Gt 2= )
Pl sl= 0.07mg/LO| Gt EZE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LOI Gt =d=
HECIZ2Z0 0.01mg/LOl Gt g8 | 22 Ecl2z20 0.03mg/LOI Gt 2As
CIZ=2=HE 0.02mg/LOl ot 22 | 4 gl ®l (Benzene) 0.01mg/LOl ot S
E20(Toluene) 0.7mg/LOl Gt EdE | 26 Ol & gl 0.3mg/LOIGt E2ds
alel 0.5mg/LOI Gt =3 28 | 1.1-CIZZ220Ed 0.03mg/LOI &t =4S

MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 50
WA ZSAH|E 10mg/LO| Gt =3 32 & A (Odor ) ol gl A =3
Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
M= (Colority) 5% 0lat EZE | 36 M Al (ABS) 0.5mg/LOI 5t SEE
20125 % (pH) 5.8~8.5 7.8 38 Ot (zn) 3mg/L 0| ot 0.004

HA0|2 250mg/L 0| Gt 7.0 40 SEAA== 500mg/LO| Gt 13

& (Fe) 0.3mg/L Ol 3t 228 | 42 2t 2k(Mn) 0.05mg/L Ol ot =2

&S (Turbidity) 0.5NTU Ol ot 0.07 44 EHat0I 2 200mg/L 0| &t 2

2205 (Al) 0.2mg/LO| Gt =23 46 SR 4mg/LO| Gt 0.5
=2(B) 1.0mg/LOI Gt =3 48 Sz ES 0.08mg/LOI &t =4S
cALUEZEZ £ Z/100mL =23 50 | 2= Z0ol0IEd0IE 0.03mg/LOI Gt =
CIEZ20tMELIEZ | 0.1mg/LOI 5t 2t 52 |CI2Z220tMELIEZ | 0.09mg/LOI Gt 28t
ECZZZ0tNELIEZ | 0.004mg/LOI ot =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
BZL2C2=2ZMHE | 0.03mg/LOI5t 222 |56 | UEZRESZ20E 0.1mg/LOIGt EAE
1.4-CtO| = &t 0.05mg/L 0| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
& £ E/100mL 2248 | 60 E54E 0.01mg/LOI Gt EAE

fts 304g/L OlGt 0.3
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Z A& = =Z&I|&E ZAHE 1t Z A& = =&I|&E 2 AHE 1t
1 2 BNl 100CFU/mLOI Gt 0 2 ESEHEZZ 24 Z/100mL = E
3 &H(Pb) 0.01mg/LO| Gt == 4 EA(F) 1.5mg/LO| Gt ==
5 Bl (As) 0.01mg/LO[ Gt =EdE 6 Mgl & (Se) 0.01mg/LOI 5t =3 E
7 22 (Hg) 0.001mg/LOI Gt == 8 AI2H(CN) 0.01mg/LO| Gt ==
9 3E(Cr) 0.05mg/LO| Gt =38 10 ADLIOIEE A 0.5mg/LOI Gt =3E
11 AMEEA 10mg/LO| Gt 0.1 12 =& (Cd) 0.005mg/LOI &t =d=
13 Hl = (Phenol) 0.005mg/L Ol Gt =38 14 ZECEZ0E 0. 1mg/LOI Gt 0.075
15 CtOIOFKl = 0.02mg/LO| Gt =TE 16 Itetele 0.06mg/LO| Gt =d=
17 |1.2-0IE22-3-222Z2%| (.003mg/LO| ot =2EE 18 HLEZEI=2 0.04mg/LOI Gt =4S
19 Pl sl= 0.07mg/LO| Gt =TE 20 [1.1.1-E2IZ22Z2 0 E 0.1mg/LO| Gt =d=
21 | HEASZZ0Ed 0.01mg/LOI Gt =38 22 EclEz=20Ed 0.03mg/LOI Gt =3E
23 CIE2=2=20HE 0.02mg/LOI Gt EHE |24 gl ®l (Benzene) 0.01mg/LOI Gt E3E
25 E20(Toluene) 0.7mg/LOl Gt EdE | 26 Ol & gl 0.3mg/LOIGt E2ds
27 a4l 0.5mg/LOI Gt == 28 -CIZ220Ed 0.03mg/LOI &t =4S
29 MM BFEFA 0.002mg/LOlGH | 2% | 30 & & (Hardness) 300mg/L Ol 5t 22
31| WS AHIE 10mg/L Ol Gt 1.6 32 £ A (Odor ) ol gl A ESk=)
33 Ot (Taste) olgl g A =B} 34 S (Cu) 1.0mg/L Ol 5 A=
35 M= (Colority) 5% 0|5t 224 | 36 MIHI(ABS) 0.5mg/L 0| 5t EAE
37| =2012=5%(pH) 5.8~8.5 7.2 38 Ot (zn) 3mg/L 0| ot 0.013
39 gA02 250mg/LO| Gt 78.9 40 SEAA== 500mg/LO| Gt 210
41 E (Fe) 0.3mg/LOI Gt EZE | 42 a2k (Mn) 0.05mg/LOI Gt =3E
43 &S (Turbidity) 0.5NTU Ol ot 0.08 44 EHat0I 2 200mg/L 0| &t 8
45 2205 (Al) 0.2mg/LO| Gt =23 46 SR 4mg/LO| Gt 0.40
47 S4(B) 1.0mg/LOI Gt 0.39 48 Sz ES 0.08mg/LOI St =4S
49 cALUEZEZ EZ=/100mL =23 50 | 2=2Zot0IEdI0IE 0.03mg/LO| Gt =
51 |CIEZ20tMELIEE | 0.1mg/LOl 5t 3et 52 |CIZ2220tMELIEE | 0.09mg/LO| ot =3¢t
58 cI2220tMELIEE| 0.004mg/LO| Gt =y 54 SZ2O0LAIE Al S 0.1mg/LO| Gt =
5 | EZ2RCIZS2Z=2MHE 0.03mg/LOI &t 0.011 56| CIEZ2RZZ2=20E 0.1mg/LOl ot 0.035
57 1.4-CtO| = &t 0.05mg/LO| Gt =23 58 ZIE2O0IE 0.5mg/LO| Gt =
59 & £ 2 &/100mL =dE 60 B84t 0.01mg/LOI Gk =&
61 fets 30ug/L Ol ot =3




